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2. Z1 T, voc_label.py Zffi> T, labelimage 2*bAEM L7z XML 7 = 4 V%

yolovd 28M#i 2 5 TXT 7 = 4 MICHEfd 5,

import xml.etree.ElementTree as £1
import piekle

import os
from os import listdir, getcwd
fron as.path inport join

‘38be’, '38ce’, '38ed’ 5915, "sAdf’, 'sfac’,
'3055', ‘38 3034,
fre,
'3823', 38

3p8a’, '

*30da’

3ebb*, '38dS’,

16
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dw = 1. /stze[0]
dh = 1./size[1]
box[0] + box[1])/2.0

v

h = hedn

return (x,y,w,h)
def convert_annotation(image_id):

g/ darknet fyakuho/YAKUHOdevk Lt/ YAKUHO288T fannotat Lens /¥s . xml ' (inage_td)}

n_file = open(’ /hone/m
aut_file = open(’ fhome/meng/darknet /yakuho /YAKUHOdevK it /YAKUHO2887 [ Labels [%s . txt '%( inage_td), "w'
tree=ET.parse(in_file)

root = tree.getraot{)

tze = root.find('size’)

nt(stze.Find('width'). text)

nt(size.find( height' ). text)

i
W
h

for obj in root.lter('object'):
cls = obj.ftind( ). text
if cls not in classes :
continue
cls_id = classes.index(cls)
J.text), float(xmlbox.find( ymax'}.text))

amlbox = ob. find(*bndbox")
b = (float(xnlbox.Find('xnin’).text), float(xmlbox.find( xnax').text), float(xmlbox.fiad( yri

bb = convert((w,h), b)
out_file.write(str(cls_id) + " " + * ".join([str(a) for a in bb]) + "\n')
image_ids_tratin = open( ' /home/meng/darknet /yakuho/ YAKUHOdevkL t/YaKUN0200T/ List. txt ). read().strip().split()

t/VAKUHO2087 /115t " ). read().strip(). split()

#image_1ds_val = open(’ Knetfyakuho,

Uist_file_tratn = open(’yakuho_tratn

t,
#1ist_file_val = open('boat_val.txt', "w'}
(7, BaOB) v [WA]

Python ~ 5788 v

for image_id in image_ids_train:
list_file_train.write(' /home/meng/darknet/yakuho/YAKUHOdevkit/YKUHO2887/IPGINages /%s . ipg\n' %(image_id))

convert_annotation(image_id)
list_file_train.close()
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